

Advanced Intelligence Engineering www.AlE195.com

We have prepared a quote for you

Wheaton Park District - Work From Home PC Solution

Quote # DA001789 Version 2

Prepared for:

Prepared by:

Wheaton Park District

Dayane Alves

Monday, September 14, 2020

Wheaton Park District Mike Benard 1777 S Blanchard St Wheaton, IL 60189 mbenard@wheatonparks.org

Dear Mike,

The following quote details the hardware needed to set up home office solutions for Wheaton Park District employees. Hardware to outfit 4 offices is listed here - 2 based upon laptops, and 2 based upon Surfaces.

To order, please return a signed quote to us at your soonest convenience. Please let us know if you have any questions at all.

Best regards,

Dayane Alves

Sales & Marketing Administrative Assistant

Advanced Intelligence Engineering

15.6" Laptops and Accompanying Hardware

Description	104 - 8	Price	Qty	Ext. Price
Lenovo ThinkPad T15 Gen 1 15.6" Notebook - Full HD - 1920 x 1080 - Intel Core i5 (10th Gen) i5-10210U Quad-core (4 Core) 1.60 GHz - 8 GB RAM - 256 GB SSD - Black - Windows 10 Pro - Intel UHD Graphics - In-plane Switching (IPS) Technology - Engl	THE .	\$1,184.41	2	\$2,368.82
Lenovo On-Site + Premier Support - 3 Year Renewal - Warranty - Phone Support - On-site - Maintenance - Parts & Labor - Physical, Electronic Service	enovo Services	\$86.03	2	\$172.06
Lenovo ThinkPad Ultra Docking Station - for Notebook - Proprietary Interface - Docking		\$255.14	2	\$510.28
Samsung 23.6" Full HD LED LCD Monitor - 16:9 - Matte Black - Twisted Nematic Film (TN Film) - 1920 x 1080 - 16.7 Million Colors - 250 Nit - 5 ms - 60 Hz Refresh Rate - DVI - VGA - DisplayPort		\$149.56	2	\$299.12
APC by Schneider Electric Back-UPS 600VA Tower UPS - Tower - 10 Hour Recharge - 3.20 Minute Stand-by - 120 V AC Input - 120 V AC Output - 7 x NEMA 5-15R, 1 x USB		\$61.10	2	\$122.20
Logitech Keyboard & Mouse (Keyboard English Layout only) - USB Wireless RF English - Black - USB Wireless RF Optical - Scroll Wheel - QWERTY - Black - AAA, AA - Compatible with Desktop Computer (PC, Linux, Chrome OS)		\$24.28	2	\$48.56
StarTech.com 3m 9.8 ft DisplayPort 1.4 Cable - VESA Certified - Supports HBR3 and resolutions of up to 8K@60Hz - Supports HDR for high contrast ratio and vivid colors - Latching DP connectors provide secure connections - Lifetime Warranty - 9.80 ft Displa		\$22.27	2	\$44.54
StarTech.com 15ft Green Molded Cat6 Patch Cable ETL Verified - Category 6 - 15 ft - 1 x RJ-45 Male Network - 1 x RJ-45 Male Network - Green		\$5.10	2	\$10.20
Vertical and the second		S	ubtotal	\$3,575.78

Microsoft Surfaces and Accompanying Hardware

Description	Price	Qty	Ext. Price
Microsoft Surface Pro 7 Tablet - 12.3" - 8 GB RAM - 256 GB SSD - Windows 10 Pro - Matte Black - Intel Core i5 10th Gen microSDXC Supported - 2736 x 1824 - PixelSense Display - 5 Megapixel Front Camera	\$1,186.61	2	\$2,373.22
Microsoft Surface Dock - for Notebook/Tablet PC - USB 3.0 - 4 x USB Ports - 4 x USB 3.0 - Network (RJ-45) - DisplayPort - Audio Line Out - Wired	\$143.57	2	\$287.14

Microsoft Surfaces and Accompanying Hardware

Description	RIGHT	Price	Qty	Ext. Price
Microsoft Type Cover Keyboard/Cover Case Tablet - Black - Bump Resistant, Scratch Resistant - 0.2" Height x 11.6" Width x 8.5" Depth		\$93.32	2	\$186.64
Samsung 23.6" Full HD LED LCD Monitor - 16:9 - Matte Black - Twisted Nematic Film (TN Film) - 1920 x 1080 - 16.7 Million Colors - 250 Nit - 5 ms - 60 Hz Refresh Rate - DVI - VGA - DisplayPort		\$149.56	2	\$299.12
APC by Schneider Electric Back-UPS 600VA Tower UPS - Tower - 10 Hour Recharge - 3.20 Minute Stand-by - 120 V AC Input - 120 V AC Output - 7 x NEMA 5-15R, 1 x USB		\$61.10	2	\$122.20
Logitech Keyboard & Mouse (Keyboard English Layout only) - USB Wireless RF English - Black - USB Wireless RF Optical - Scroll Wheel - QWERTY - Black - AAA, AA - Compatible with Desktop Computer (PC, Linux, Chrome OS)		\$24.28	2	\$48.56
StarTech.com 3m 9.8 ft DisplayPort 1.4 Cable - VESA Certified - Supports HBR3 and resolutions of up to 8K@60Hz - Supports HDR for high contrast ratio and vivid colors - Latching DP connectors provide secure connections - Lifetime Warranty - 9.80 ft Displa		\$22.27	2	\$44.54
StarTech.com 15ft Green Molded Cat6 Patch Cable ETL Verified - Category 6 - 15 ft - 1 x RJ-45 Male Network - 1 x RJ-45 Male Network - Green		\$5.10	2	\$10.20
		S	Subtotal	\$3,371.62

Computer Setup Labor (Required for Either Option)

PER COMPUTER SETUP FEE

Un-Box and document

Unpackage Laptop, assign service tag and power on

BIOS

Configure default settings in BIOS

Local Admins

Setup default local admins

Default Applications

Image computer with default applications

Domain

Join machine to the domain

Rectrac

Install Rectrac because it is too old to automate

User Profile

Sign in to user's profile and configure settings

VPN

Setup Client VPN for user

Data

Copy user's data from old machine to network drive

Home Setup

Walk user through setup at home.

Computer Setup Labor (Required for Either Option) Subtotal:

\$250.00

Payment Terms

In order to initiate the work, AIE requires a signed copy of the agreement along with 100% down payment on all hardware and licensing and 50% down payment on all labor. The balance of the labor, along with any additional surcharges or tax, will be billed Net20 upon completion of the work.

Wheaton Park District - Work From Home PC Solution

Prepared by:

Advanced Intelligence Engineering

Dayane Alves (630) 936-4045 Fax (815) 346-5342 dalves@aie195.com Prepared for:

Wheaton Park District

1777 S Blanchard St Wheaton, IL 60189 Mike Benard (630) 510-4945 mbenard@wheatonparks.org Quote Information: Quote #: DA001789

Version: 2

Delivery Date: 09/14/2020 Expiration Date: 09/25/2020

Assumptions

- Additional time/work will be required if user's data is not stored where WPD requires it to be (in their I: Drive).
- Delivery/Shipment of equipment to user's homes is not included in project
- We will need to be able to communicate with each user in order to configure their profiles.
- Client staff will be available in a timely manner for questions and testing of changes.
- Client will provide all necessary software discs, serial numbers, and passwords for any software needing to be reinstalled.
- The work will be completed Monday-Friday / 7:30am-5:30pm, unless otherwise designated by AIE.

Should any of these assumptions prove to be incorrect, additional labor will be billed at AIE's project rates of \$180/hr, with after hours work billed at 1.5x project rates.

Taxes, shipping, handling and other fees may apply. We reserve the right to cancel orders arising from pricing or other errors.

Advanced Intelligence Engineering		Wheaton Park District			
Signature:	Roylano	Signature:			
Name:	Dayane Alves	Name:	Mike Benard		
Title:	Sales & Marketing Administrative Assistant	Title:	Executive Director		
Date:		Date:	9/18/2000		